EH 22120.

=
O ge g8

EEllA AE1.4305

Ki
ul

=
=

tlAa AEl 14305, LA =

o
I3
ol
Hiu
«
T
ol
W go
A K
i R M
° = H
Jor+ 2
~ U oo Mﬁ_
g 1w WL
o 11T
Wy H0 go ¢ W
ST R U
KIMD ~ o olko
A k-, .
w0
o
™
<
ol
<
M_
_m
ol
Kl <]
A,

SURRRRARRARARRRAANAN,

-_ ,,.f“i__m_._.f.ﬁ_._._u,_,_

BopjhprEppE R Ep

a8

ds

22120.0515 - .0520 (AEIE|A AR

SERE

H0|X| 1~2| 2
IHAl: 27.7.2024

tNHALDER



ol
[ |

717 % x7 &
A BRK/QlsA =

FEEE
x4 Az § &
d d ds I I Iy F, F. A/
-0,02 - E3PS - -
-0,05
[mm] [N] [°C] [a]
AE|Ql2|A AE
5 M10 x 1 21 45,0 5 22 6,0 14 250 36 | 221200475
6 M12x 15 25 545 6 2 65 19 250 62 | 221200476
8 M16x 15 31 69,0 8 34 115 28 250 124 | 22120.0478
10 M20x 1,5 31 80,0 10 41 23,0 54 250 165 | 22120.0480
" EAY BRSRIY
HAMIAE
x5 #x| Ato|= 1 ME HE.
d;
[mm] [mm] [g]
2 L1E 1SO 8675 (DIN 439), AE|2IZ|A AE
M10 x 1 16 52 22120.0515
@ M12x 1,5 18 75 22120.0516
| M16x 1,5 24 15,0 22120.0518
\. M20 x 1,5 30 32,0 22120.0520
ZYE, 28
M10 x 1 - 9,3 22120.0955
M12x 1,5 - 14,0 22120.0956
M16x 1,5 - 25,0 22120.0958
M20 x 1,5 - 27,0 22120.0960
TEES
AR 7 &4 HEE Hi{H Hote &5 HEE MESUAIR
H0|X| 2 ~2] 2

tNHALDER

IHAl: 27.7.2024


http://halder.com/kr/22120.0475
http://halder.com/kr/22120.0476
http://halder.com/kr/22120.0478
http://halder.com/kr/22120.0480
http://halder.com/kr/22120.0515
http://halder.com/kr/22120.0516
http://halder.com/kr/22120.0518
http://halder.com/kr/22120.0520
http://halder.com/kr/22120.0955
http://halder.com/kr/22120.0956
http://halder.com/kr/22120.0958
http://halder.com/kr/22120.0960

